> restart
> Ecuacion := y"(t) +2-y(t) =cos(2t)
Ecuacion := D'? (y) (t) +2y(t) =cos(2 t)
> y"(t) =-2-y(t) +cos(2t)
D@ (y) (t) = -2 y(t) + cos(2 1)

> reCondiciones :=y(0) =2, D(y)(0) =-3
Condiciones:=y(0) =2,D(y)(0) = -3

> Solucion := dsolve( { Ecuacion, Condiciones})

Solucion := y(t) = —% sin(V2t) V2 + % cos(V2 t) — % cos(2 t)

> plot(rhs(Solucion),t=0..10)
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| > restart
> Sistema := diff (yl(t), t) =2-y,(t) +4-y,(t), diff (yz(t), t) =-y, (1) +3-y,(1);

Smmm=§;nm=2wﬁ)+4nuL§;nm=-wﬂ)+3nm )
[ > Condiciones := y;(0) =5,y,(0) =-4
Condiciones:=y,(0) =5,y,(0) = -4 (6)
[ > Solucion = dsolve( { Sistema, Condiciones})
5
—t
Solucion := [yl(t) =e? (— i—; sin(% Vv 15 t) V15 +5 cos(% Vv 15 t) ) y,(t) = (7)
5
-t
—% e? (11—152 sin(% Vv 15 t) V15 +32 cos(% V15 t)j}
> plot(rhs(Solucion; ), t=0..1)
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=> pIot(rhs(SqucionZ),t:O..l)
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